Quiz 2 MAC-2312 Spfing 2017 Name: SOLLUL‘OQ KQ\}

To receive credit you MUST SHOW ALL YOUR WORK.

1. (2 pts) If W'(t) is the rate of change of a child’s height measured in inches per year, what does the
integral G ) dt represent and what are its units?
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2. (3 pts) Is the statement béldw true or false? Answer (1 pt) and briéily justify your a,nswer (2 pts).
There does not ezist a differentiable function F(z) such that F'(z) = |z|. True (False >
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3. (6 pts) Evaluate each integral (3 pts each): ' © LM Qu
, . : . |
a)/ R dm o \ (b) /;1,’/6 | cos z| dz | M‘-(:\" dff"‘lﬂr’h‘“ ‘
| - : awd 4= (] N owbins

tl

- : Al ,
g 110\1 = ) S_‘E‘Co\x\ oQ\ ‘_::Y lcss'@\obL =

a—

we b » C
(’L\X )Z.. ‘ — (.w l*‘i\md(m:‘) + (J\k Ld‘?ka&ﬁw
1 “’0‘(’0 %:‘ Lorn £ O
_ F\  Cosw Ax
N \\‘L I" o &\( CO\'\L\AL
] ﬂ p &4 v ' - L
~, : g & “"i: m: ?rh\
BENR S @«\5(1 ~ e |
w o ’ 3




